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Constant 2010 Dollars Cumulative Change, 1980-2011: 

 

Median Income/Household Member: +$4,000 

 

National Health Expenditures/Capita: +$5,800 
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Health Spending's Initial Share of GDP (%) 

GDP Growth = 1% 

GDP Growth = 2.5% 

GDP Growth = 4% 

Health Spending's Share of Economic Growth = 30% 

Relationship between Excess Cost Growth and Health Spending's Initial Share of 
the Economy 
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Health Spending's Share of Per Capita Growth (%) 

Excess Cost Growth vs. Health Spending’s Share of Per Capita Economic Growth  

GDP Growth = 1% 

Health Spending's Initial Share of GDP = 18% 
Population Growth = 0.9% 
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Excess Cost Growth vs. Health Spending’s Share of Per Capita Economic Growth  

Health Spending's Initial Share of GDP = 18% 
Population growth = 0.9% 

GDP Growth = 1% 

GDP Growth = 4% 

GDP Growth = 2.5% 



     𝐸𝑥𝑐𝑒𝑠𝑠𝐶𝑜𝑠𝑡 =
(𝑟 − 𝑔)(𝑆ℎ𝑎𝑟𝑒 𝑜𝑓 𝐺𝑟𝑜𝑤𝑡ℎ 𝑃𝑒𝑟 𝐶𝑎𝑝𝑖𝑡𝑎 − 𝐼𝑛𝑖𝑡𝑖𝑎𝑙𝑆ℎ𝑎𝑟𝑒𝑜𝑓𝐺𝐷𝑃)

𝐼𝑛𝑖𝑡𝑖𝑎𝑙𝑆ℎ𝑎𝑟𝑒𝑜𝑓𝐺𝐷𝑃
 

 
 
 
r = economic growth rate 
g = population growth rate 

𝐸𝑥𝑐𝑒𝑠𝑠𝐶𝑜𝑠𝑡 = 𝑟 ×
𝑆ℎ𝑎𝑟𝑒 𝑜𝑓 𝐺𝑟𝑜𝑤𝑡ℎ − 𝐼𝑛𝑖𝑡𝑖𝑎𝑙𝑆ℎ𝑎𝑟𝑒𝑜𝑓𝐺𝐷𝑃

𝐼𝑛𝑖𝑡𝑖𝑎𝑙𝑆ℎ𝑎𝑟𝑒𝑜𝑓𝐺𝐷𝑃
 

 
 


